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Methodology: Online

Sample size: 1014
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Weighting: All the results were weighted by age, sex, household tenure, country of birth and SEG. Respondents who voted in the 2011
Holyrood election and/ or 2014 European elections were weighted back to the actual election results. Independence voting intention questions

were filtered on 8-10 likely to vote.
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Scottish Sunday Times Poll

Total Should Scotland be an Gender Age Age X Sex SEG
independent country?
Yes | No |Undeci|Willnot| Male |Female| 16-34 | 35-54 | 55+ |Male 16]Male 35] Male | Female| Female | Female | ABCL | C2DE
ded | vote 34 | 54 | 55+ |16-34 | 3554 | 55+

Baseallweighted| 1014|  452| 455 99 8| 86| s528| 302| 346 365| 150| 169| 167| 1s52| 177| 198| 462| 552
Unweighted| " “1014| 448| 463| o3| 10| 40| ses| 181| 3es| 4aes| 40| 163| 237| 132| 205| 228|572 441
100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%
S3. There will be a referendum Base: Likely voters weighted 928 427 437 63 441 486 264 314 350 130 154 158 133 161 193 440 488
on an independent Scotland on Unweighted|  934|  430| 445 59 416| 518] 155| 331| 448 42| 147| 227| 113] 184| 221| 540 393
the 16th of September. How do | a21| a2 221| 207|139 64| 124| 81| e1| 49 73| 75| 178|250
o t;':}ee::o("o e eshonse 10 46.19%| 100.0%) 50.0%| 42.5%| 52.8%| 52.3%| 35.4%| 62.4%| 59.1%| 30.9%| 43.3%| 45.8%| 39.2%| 40.4%| 51.2%)
be an independent country? o 437 437 195 242| 103] 133] 201 39 58 98 64 76]  103[ 234[ 203
47.1%)| 100.0%: 44.2%| 49.8%)| 39.1%| 42.5%| 57.3%| 30.0%| 37.6%| 62.3%| 48.1%| 47.2%| 53.2%| 53.2%| 41.7%)
Undecided 63 63 26| 37| 21| 16| 25| 10 5| 11| 11| 11| 15| 28| 3|
6.8%| 100.0% 58%|  7.7%| 8.1%| 52%| 7.3%| 7.6%| 33%| 6.8%| 8.6% 7.0%| 7.6%| 64%| 7.2%
S3. There will be a referendum Base: Likely voters excluding undecided weighted 865 427 437 416 449 242 298 325 121 148 147 122 149 178 412 453
on an independent Scotland on Unweighted|  875|  430| 445 396| 479| 141 315| 419 39| 141 216| 102| 174| 203| 510/ 364
the 16th of September. How do | a21|"aET 221| 207|139 164| 124| 81| e1| 49| 58 73| 75| 178|250
o ;::::0("0 e eshonse 10 49.4%) 100.0%| 53.1%| 46.0%| 57.4%| 55.2%| 38.2%| 67.6%| 61.1%| 33.1%| 47.3%| 49.29%| 42.4%| 43.2%| 55.1%|
be an independent country? o 437 437 195 242| 103] 133] 201 39 58 98 64 76]  103[ 234[ 203
50.6% 100.0%: 46.9%| 54.0%)| 42.6%| 44.8%| 61.8%| 32.4%| 38.9%| 66.9%| 52.7%| 50.8%| 57.6%| 56.8%| 44.9%)
QL. If you could have the choice [Base: All weighted 1014 452 455 99 8| 486 528 302 346 365 150 169 167 152 177 198 462 552
of Scottish independence or Unweighted 1014| 448|463 93 10( 449|565 181 368 465 49| 163| 237| 132| 205| 228| 572 441
g‘g;?::‘;:ﬁ‘;"m“le“n‘i';" the Scottish Independence 423|406 12 5| 215| 208|141 166 116] 77 90| a8 64] 76 68| 166 257
maintaining the Scottsh 42%|  90% 12%|  61%| 44%| 30| 479 48%| 32%| 51%| 53%| 20%| 42%| 43%| 34%| 36%|  47%
parliament's existing powers | Increased devolution 352] a1 277 33 173 179 91| 109| 151 6 52 75 46 57 76| 18] 164
'which would you choose? 35%) 9%| 61%)| 34%| 36%| 34%) 30%| 32%) 41%| 30%) 31%| 45%) 30%| 32%) 38%| 41%) 30%|
Maintain existing powers 163 155 7 1| 67| 6| s3] s3] 77| 13| 20| 35| 20| 33| 42 87 76
16%) 3a%| 8| 11%| 14%| 18%| 1196 15%| 219  9%| 1296 21%| 13%| 10%| 219%| 19%| 14%
'Would not vote 13 4| 7 2| 9 4 8 3 3 5 2 3 3 1 1 12
1% 1%)| 7%| 25%) 2%| 1% 3%| 1% 1%) 3%, 1%) 2% 2%) 1% 0%, 2%)
Don't know 63| 5| 1o a9 of 21| a1 29| 15| 19| 10 5 6 19 10| 13 20 42
6% 19| 4% 39%| a%| 4% 8| 10%| a%| 5% 79| 3% 4| 12%| 6%| 6% 4% 8%
Q2. Imagine that Scotland votes [Base: All weighted 1014 452 455 99 8| 486 528 302 346 365 150 169 167 152 177 198 462 552
NO this September but the Unweighted 1014| 448|463 93 10( 449|565 181 368 465 49| 163| 237| 132| 205| 228| 572 441
(esult s fary close, ith at east | The matter Should be considered selfled, and there shoudnot | 366| 35| 316 14 1| 1se| 207| 71| 12| 1e3| 81| 4|  s2| 41| es| 101|182 184
9 ves. doyoutthink- e another referendum on independence 36%|  8%| 69% 1a%| 11%| 3a%| 39%| 24%| 32| 50%| 219 27| ao%| 279 37| 519 30%| 33%|
There should be another referendum on independence, but not 100 39 53] 8 1] 60 41 41 20 40 27 10 23! 14 10! 16 61 39
for at least 20 or 30 years 10%) 9%|  12%)| 8%|  11%|  12%| 8%|  14%) 6%| 11%|  18%)| 6%|  14% 9% 6%) 8%|  13%) 7%)|
There should be another referendum on independence, butnot|  102| 47| 38| 16 1| s8] aa| 1] 20| 31| 24 15| 19| 17| 15| 12| 48] 53
for at least 10 or 15 years 10%| 10%|  8%| 17%| 10%| 12%|  8%| 14%|  8%| 9%| 16%|  9%| 11%| 11%| 8%| 6%| 11%| 10%)
There should be another referendum on independence within 355 295 27| 31 2| 170 186 109 154 92 54/ 82 34 55 72 58 139 217
10 years 35%) 5%)| 6%)| 31%| 21%| 35%| 35%) 36%| 45%) 25%| 36%)| 19%| 20%) 36%| 41%) 30%| 30%) 39%|
Don't know o1 36| 22 29 a| a1 so| ao] =1 20 15| 17 of 25| 15| 11| 32| 59
o%| 8| 5% 30%| 48| | 10%| 13%| o%| 5% 10%| 10%  5%| 16%| 8% 5% 7% 11%)
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Scottish Sunday Times Poll

Total 2011 C ote ‘Country of birth EU Election
Conser | Labour | Liberal | SNP | Other | Didnot| Cant | Not |Scotlan| Englan| Al | Conser | Labour | Liberal | Greens| SNP | UKIP | Other | Did not
vative Democr vote | remen | eligible | d d | others | vative Democr vote/

Baseallweighted| 1014| 110| 251| 63|  360) of 146| so| 17| sa2| o1 e1| 130| 196] 4| 61| 220 79| 17| 257

Unweighted| " “1014| '134| 212| 62| aas| 38| 16| so| 17| 7es| 157| e8| 113| 187| 47| 60| 268| 70| 12| 257

100.0%| 100.0%| 100.0%| 100.0%| 100.0%] 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%}
S3. There will be a referendum Base: Likely voters weighted 928 107 240 62 340 9 108 48 14| 780 85 62 126 183 52/ 60 215 75 13! ZO?I
on an independent Scotland on Unweighted|  934| 131|203 61| 332 37| 110 49 10( 738 144 51| 110 176 45 59| 263 67 10| 204
the 18th of Septemher. How do g 227 2 O 1 -1 5| a8 9 6| 382 27| 18 1| a4 of 47| 109 37 2|9
o t;"\]'ees":;n" e eshonse 10 46.1%|  4.0%| 30.6%| 16.29| 80.2% 61.0%| 44.2%| 18.1%| 39.3%| 49.0%| 32.0%| 28.8%| 0.7%| 23.4%| 17.3%| 77.1%| 92.4%| 49.6%| 18.6%| 44.2%)
be an independent country? o 437 101] 147 50 54 2 56 20 6| 350 53 34 120] 126 3 12 12 32 7 86
47.1%)| 94.4%| 61.2%| 81.3%| 15.9%| 21.5%)| 52.0%| 42.4%| 44.0%| 44.9%| 61.5%| 55.3%| 94.7%| 68.9%| 81.7%| 19.2%) 5.5%)| 42.3%| 56.4%| 42.6%]

Undecided 63| 2 20 2] 13 2 2 19 2| 8 6| 10 6] 14 i 2 5 6| 3| 27

6.8%| 16%| 8.2%| 25% 3.9%| 17.5%| 38%| 39.5%| 16.6%| 6.1%| 6.5%| 159%| 4.6%| 7.7%| 1.1%| 3.7%| 2.1%| 8.0%| 25.0%| 13.1%

S3. There will be a referendum Base: Likely voters excluding undecided weighted 865 106 220 60 326 7 104 29 12| 732 80 52 121 169 52/ 58 211 69 10! 176
on an independent Scotland on Unweighted| 875/  130| 189 58| 318 32| 105 34 8| 695 135 44| 107|166 44 55| 256 61 8| 178
the 18th of Septemher. How do g 227 2 O 1 -1 5| a8 9 6| 382 27| 18 1| a4 of 47| 109 37 2|9
o t;"\]'ees":;n" e eshonse 10 49.4%| 4.1%| 33.3%| 16.6%| 83.4%| 73.9%| 45.9%| 20.9%| 47.2%| 52.29| 34.2%| 34.2%| 0.7%| 25.3%| 17.5%| 80.1%| 94.4%| 54.0%| 24.8%| 50.9%)
be an independent country? o 437 101] 147 50 54 2 56 20 6| 350 53 34 120] 126 3 12 12 32 7 86
50.6%| 95.9%| 66.7%| 83.4%| 16.6%| 26.1%| 54.1%| 70.1%| 52.8%| 47.8%| 65.8%| 65.8%| 99.3%| 74.7%| 82.5%| 19.9%| 5.6%)| 46.0%| 75.2%| 49.1%]|

QL. If you could have the choice [Base: All weighted 1014 110 251 63 360 9 146 59 17| 842 91 81 130 196 54/ 61 220 79 17 257|
of Scottish independence or Unweighted 1014| 134|212 62| 345 38| 146 59 17| 788) 157 68| 113 187 47 60| 268 70 12| 257
increased devolution to the Scottish Independence 423 5 72| 6| 261 5 55| 12 8| 377 28 18 il 43 3 26| 192 35 2| 101
iz‘.’:;';ﬁ:’rﬁ;“;z;g;h a2%|  5%| 20%| 10| 73%| 519| 38%| 200 44%| 45%| 31%| 2296|196 22%  6%| 75%| 87%| 44%| 14%|  39%]
parliament's existing powers | Increased devolution 352] 56|  118] 36 80 2 6 12 2| 201 33 28 76 98 33 9 24 27 7 79
'which would you choose? 35%) 1%)| 47%)| 58%| 22%)| 22%| 32%)| 0%| 13%] 35%| 37%) 34%| 59%) 0%| 61%) 4% 11%) 34%| 41%) 31%]|
Maintain existing powers 163 4o 43 17| 1 1 21 14 6| 117 23] 22| 50| 38 15 6| of 15 GIEE

16%| 45%| 179|279 3% 13%| 15%| 24%| 38%| 14%| 26%| 27%| 30%| 19%| 27%|  9%|  0%| 19%| 37%| 13%)

'Would not vote 13 3| 10| 0 0| 7 1 6 3 11

1% 1%)| 7%| 1%) 3% 1%) 1% 7%)| 2%) 4%

Don't know 63| 16| 3 8 1 1] =1 o 50 5 8 3[ 14 a 1 5 2 EE

6%| 6% 5% 206 14%| 10%| 35%| 2% 6| e%| 10%| 2% 79| 76| 19| 2%| 3% 7% 13%)

Q2. Imagine that Scotland votes [Base: All weighted 1014 110 251 63 360 9 146 59 17| 842 91 81 130 196 54/ 61 220 79 17 257|
NO this September but the Unweighted 1014| 134|212 62| 345 38| 146 59 17| 788|157 68| 113 187 47 60| 268 70 12| 257
{esult s fary close, ith at 1ast | The matter Should be considered sefled, and there shouldnot | 366| 0| 113 41| s 3| 4] 20 5| 300| 37| 28 07| w3 32 6 22| 35 7| a4
9 ves. doyoutthink- e another referendum on independence 36%| 82%| 45% 65%| 15% 31%| 20%| 33%| 28%| 36%| 41%| 35%| 83%| 48%| 5o%| 11% 10%| 44%| 40%| 25%]

There should be another referendum on independence, but not 100 8 25| 6 41 0 7] 8 4 73 9 18 9 24 10! 5 13! 8 3 27

for at least 20 or 30 years 10%| 8%| 10%)| 10%| 11%)| 4%| 5% 14%| 22%) 9%| 10%) 23%| 7%, 12%| 19%) 9%| 6% 10%| 18%) 11%]

There should be another referendum on independence, butnot| 102 o a1 38| o 1 5 1 83 11 8 6| 21 3 3 8 o 3

for at least 10 or 15 years 10%|  4%| 12%|  5%| 11%|  5%| 13%|  9%|  4%| 10%| 12%| 10%| 5%| 11%| 5%| 5%| 11%| 11%| 1%| 14%|

There should be another referendum on independence within 355 6 55| 9 208 5 57| 10 6| 311 30! 15 6 38 7 42 150 21 7 83

10 years 35%) 6%| 22%)| 15%| 58%| 6%| 39%)| 6%| 34%) 7%)| 33%) 8%| 5% 0%| 13%) 9%| 68%) 27%| 41%) 33%]

Don't know a1 1 27 3 2 o 2] 16 2[5 3 12 i 1 2 i 12 7 15

0% 16| 119 5% e 5% 14%| 27| 129 o%| 5% 15% 19| 10%| 4% 7% 5% 9% 18%)
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Scottish Sunday Times Poll

Total Should Scotland be an Gender Age Age X Sex SEG
independent country?
Yes | No | Undeci|Willnot| Male |Female| 16-34 | 35-54 | 55+ |Male 16]Male 35| Male |Female | Female|Female| ABC1 | C2DE
ded | vote 34 54 | 55+ | 1634 | 35-54 | 55+

Baseallweighted| 1014 452 455 99 8| 486| 528| 302| 346| 365 150 169| 167 152| 177| 198 462| 552
Unweighted| " 1014| 448|463 93 10| 449| 565|181 368 465 49| 163|237 132|205 228 572|441
100.0%] 100.0%| 100.0%| 100.0%| 100.0%| 100.0%] 100.0%| 100.0%| 100.0%] 100.0%| 100.0%] 100.0%] 100.0%| 100.0%] 100.0%] 100.0%| 100.0%] 100.0%|
Q3a. What do you think are the |Base: All weighted 1014 452  458] 99 8| 486| 528| 302| 346| 65| 1s0| 169| 67| 152| 177] 198 462| 552
greatest risks in Scotland Unweighted 1014 448  463| 93 10| 449 565 181 368| 465 49| 163| 237| 182| 205| 228| 572| 441
:z;’;‘:’;gr";‘;ecﬁ?‘;e:r‘“?;"ijzw 1 - Very unlikely to happen 230|212 14] 4 147 83 79 89 62 58 57 32 21 32 30| 77| 152
\where 1 means itis very unlikely 23%|  47%|  3%| 4% 30%| 16%| 26%| 26%| 17%| 39%| 34%| 19%| 14%| 18%| 15%| 17%| 28%
o happen and 5 means it is very 135 117 8| 10 58 78 44 47 44 24 19 14 20 28 30 65 70
likely to happen ... The Scottish 13%|  26%| 2%  10%| 129%|  15%| 15%| 14%| 12%| 16%| 11%|  8%| 13%| 16%| 15%| 14%| 13%)
economy would be worse off ~ [3] 208| 94| 47, 61 6| 84| 124 71 80 58| 2 33| 25 25| a7 33| 87| 121
219%| 21%| 10%| 62%| 71%| 17%| 24%| 23%| 23%| 16%| 17%| 20%| 15%| 30%| 26%| 17%| 19%| 22%)
4 161 22| 121 16 2 75 86 a1 52 69 16 25 34 24 26 35 77 85
16%|  5%| 27%| 17%| 27%| 16%| 16%| 13%| 15%| 19%| 11%| 15%| 20%| 16%| 15%| 18%| 17%|  15%)
5- Very likely to happen 280 7| 265 7 o 123] 157 68 79| 133 2 35 62 22 a4 71 156 124
28%|  2%| 58%| 7%  2%| 25%| 30%| 23%| 23%| 36%| 18%| 21%| 37%| 28%| 25%| 36%| 34%| 22%)
Q3a. What do you think are the | Base: All weighted 1014 452 455 99 8| 486| 528| 02| 346] 365| 150 169 167 152| 177| 198 462 552
greatest risks in Scotland Unweighted 1014 448  463| 93 10| 449 565 181 368| 465 49| 163| 237| 182| 205| 228| 572| 441
:z;’;‘:’;gr";‘;ecﬁ?‘;e:r‘“?;"ijzw 1 - Very unlikely to happen 217| " 210] 6 2 131 86| 83 84 51 58 49 24 25| 35 26| 80| 1sg|
\where 1 means itis very unlikely 21%|  41%|  1%| 2% 27%| 16%| 27%| 24%| 14%| 39%| 29%| 15%| 16%| 20%| 13%| 17%| 25%
o happen and 5 means it is very 143) 110 18| 15 1 65 79 42 49 53 19 27 19 23 22 34 62 82
likely to happen ... imy family 14%|  24%| 4% 15%|  8%| 13%| 15%| 14%| 14%| 14%| 13%| 16%| 11%| 15%| 13%| 17%| 13%|  15%|
would personally be financially ~ [3 267| 102 %8 61 6| 115] 152 85 £ 84] 39 3| 33 46| 55 51|  114] 153
worse off 26%| 23%| 20%| 62%| 74%| 24%| 29%| 28%| 28%| 23%| 26%| 25%| 20%| 30%| 31%| 26%| 25%| 28%)
4 146 19] 111 14 2| 68 78 30 45 71 12 18 38 18 27 33 79 67
14%|  4%| 24%| 14%| 19%| 14%| 15%| 10%| 13%| 20%|  8%| 11%| 23%| 129 15%| 17%| 17%| 12%)
5- Very likely to happen 240 11 223] 7 108] 133 64 70| 108| 23 32 53 a1 38 54 128] 113
24%|  2%| 49%| 7% 22%| 25%| 21%| 20%| 20%| 15%| 19%| 32%| 27%| 21%| 27%| 28%| 20%
Q3a. What do you think are the | Base: All weighted 1014 452|455 99 8| 486| 528] 302| 346] 365| 150 169 167 152| 177| 198 462 552
greatest risks in Scotland Unweighted 1014  448|  463| 93 10| 449 565 181 368| 465 49| 163| 237| 182| 205| 228| 572| 441
e e Smeme:"ia:liw 1 - Very unlikely to happen 186 178 7| 1 113 73| 64 74 48 45 45 22! 19 28/ 25 70! 116
\where 1 means itis very unlikely 18%| 39%|  2%| 1% 23%|  14%| 21%| 21%| 13%| 30%| 27%| 14%| 13%| 16%| 13%| 15%| 21%
o happen and 5 means it is very 147 119 16 12 66 81 47 52 48 27 22 17 20 30 31 68 79
likely to happen? ... Public 15%|  26%|  4%|  12%) 14%|  15%| 16%| 15%| 13%| 18%| 13%| 10%| 13%| 17%| 16%| 15%| 14%)
spending would be cut 3 261 104 92 59 7| 101  160| 89] 101 71 32 22 27 57 59 24| 103| 158
26%| 23%| 20%| 60%| 82%| 21%| 30%| 30%| 29%| 20%| 21%| 25%| 16%| 38%| 33%| 22%| 22%| 29%)
4 187| 41 126 19 2| 96 o1 45 60 82 16 32 47 29 28 35 93 94|
18%|  9%| 28%| 19%| 19%| 20%| 17%| 15%| 17%| 23%| 11%| 19%| 28%| 19%| 16%| 18%| 20%| 17%)
5- Very likely to happen 233 10[ 214 8 11| 122 57 60| 116 30 28] 53 27 32 63 128 105
23%] 2% 47%| 9% 23%| 23%| 19%| 17%| 32%| 20%| 17%| 32%| 18%| 18%| 32%| 28%| 19%|
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Scottish Sunday Times Poll

Total 2011 Constituency vote ‘Country of birth EU Election

Conser | Labour | Liberal | SNP | Other | Didnot| Cant | Not |Scotlan| Englan| Al | Conser | Labour | Liberal | Greens| SNP | UKIP | Other | Did not
vative Democr vote | remen | eligible | d d | others | vative Democr vote!

Basealweighted| 1014| 110| 251| 63|  360) of 16| 0| 17| sa2| o1 e1| 130| 196] 4| 61| 220 79| 17| 257
Unweighted| " “1014| '134] 212| 62| 3as| 38| 46| 50 17| 7e8| 1s7| e8| 113| 187] 47| e0| 268] 70 12| 257
100.0%| 100.0%| 100.0%| 100.0%| 100.0%] 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%|
Q3a. What do you think are the | Base: All weighted 1014| 110|251  63] 360 o 14| 59 17| ea2| o1] s1l 130 196] 54| e 220 79 17| 257,
greatest risks in Scotland Unweighted 1014, 134 212 62 345 38 146 59 17 788 157 68 113 187 a7 60 268 70 12 257}
becoming independent? Please [Taw inikely to happen 230 33| 6| 156 1 22| 9 2| 218 15 1 3 20 4 19| 121 23] 4 36|
:;;;‘:’:’;;’;ﬂﬁ:‘fxmﬁ:x 23%| 13%|  ow| 43| 16%| 15%| 15%| 12%| 25%| 16%|  2%|  2%| 10%| 79| 319 55%| 29%| 26%| 14%|
o happen and 5 means t is very 135, 3 a1 2[ 78 3 19 6 4 105 B[ 18 1 22 2| 15| 43 5 2[4
likely to happen ... The Scottish 13%|  3%| 8%  4%| 20%| 33%| 13%| 10%| 21%| 12% 14%| 20%| 19| 119%|  4%| 24%| 20%|  6%| 10%| 18%)
economy would be worse off  [3 208| 14| 55 6 65 2[ 45 18 4| 166 16| 26| 10| 39 8| 20 42 12 1 80
21%| 12%| 22%|  9%| 18%| 25%| 31%| 31%| 24%| 20%| 18%| 32%| 7% 10%| 14%| 33%| 19%| 15%  6%| 31%)
4 161 24| s8] 13| 25 of 23 12 5[ 135 12[ 14| 37| 4 9 5 71 15 i 4
16%| 229 23%) 20%| 7% 4%| 169%| 2196| 31%| 16%| 13%| 17%| 28%| 23%| 17%|  8%|  3%| 20%| 7%  16%
5 - Very likely to happen 280 70| 83 37 35 2[ 37 14 2| 222 36| 22| 79| 72 a1 3 6| 24 o 55
28%| 64%| 33%| 58| 10%| 219 25%| 23%| 12%| 269%| 39%| 27%| 61%| 37%| 58%|  5%|  3%| 30%| 51%| 21%)
Q3a. What do you think are the | Base: All weighted 1014| 110 251 63| 360 o  146] 59 17| sa2[ o1 81 130 196] 54| 61| 220 79 17| 257
greatest risks in Scotland Unweighted 1014, 134 212 62 345 38 146 59 17 788 157 68 113 187 a7 60 268 70 12 257}
becoming independent? Please [Taw inlikely to happen 217 1 33| 3| 140 2 29| 4 6| 197 17 3 18] 2 18| 110 26| 0 44|
:;;;‘:’:’;;’;ﬂﬁ:‘fxmﬁ:x 21%|  1%| 13%| 4%  39%| 21| 20%  7%| 35%| 23%| 10%| 4% o%| 3| 30%| s0%| 33%| 2% 17
o happen and 5 means it is very 143 4 = 5| 1 3 2] 11 1 124 of 10 6| 11 6| 14| 49 5 5| ag
likely to happen .. iy family 14%|  4%|  o%| 7% 20%| 30%| 17%| 19%|  6%| 15% 10%| 12%|  5%|  6%| 11%| 23%| 22%|  6%| 28%| 19%)
would personally be financially ~ [3 267| 18] 67| 10 9 2| 42 24 7| 200] 23] 36| 22| 2 of 26| 48] 15 2| 84
worse off 26%|  16%| 27%| 169%| 27| 21%| 20%| 41%| 44%| 259%| 25%| 44%| 17%| 31%| 16%| 429%| 22%| 19%| 12%| 33%)
4 16| 26| 54 17| 25 1 19 3 o 119 10 16| 30| 38 14 2 8 16 L
1a%|  24%|  22%| 27| 79| o%| 13%|  6%|  3%| 14%| 119%| 20%| 23%| 20%|  26%|  3%|  4%| 20%|  7%|  14%)
5 - Very likely to happen 240 61| 73 29| 27 2[ a1 16 2 193] 2] 16| 72| 67| 24 2 5| 18 of a4
24%|  56%| 20%| 45| 8| 10%| 21%| 27%| 12%| 23%| 35%| 10%| 55%| 34%| 45%|  3%|  3%| 23%| 51%|  17%)
Q3a. What do you think are the | Base: All weighted 1014] 110] 251 63|  360) o 146] 59 17| sa2[ o1] 81| 130 196] 54| 61| 220 79 17| 257
greatest risks in Scotland Unweighted 1014, 134 212 62 345 38 146 59 17 788 157 68 113 187 a7 60 268 70 12 257“
? Please [7ery tniikely to happen 186 0 28| 6 124] 2 21| 2 2| 171 14/ 1 20 4 15 96/ 19 0 32|
;":;:’:’;;’:;gﬂf:‘;"ﬁ'ﬂ::gf 18%| 0| 11%|  o%| 35%| 219 15%  3%| 12%| 20%| 15%] 1% 10%)| 7| 24%|  a4%| 25%|  2%| 129
o happen and 5 means it is very 147 5| 27 2[ 75 2[ 22 12 2 120 13 14 5| 14 3 17 53 9 2| 44
likely to happen? ... Public 15%|  4%|  119| 3% 219 27%| 15%| 20%| 10%| 14%| 14%| 18%|  4%| 7%  6%| 28%| 24%| 12%| 10%| 17%
spending would be cut 3 261 25| 63 o 80 2| s3] 20| 10| =211] 20| 30| 18] 53 o 20 49| 12 5 o4
26%| 22%| 25%| 15%| 22 27%| 36%| 34%| 59%| 25%| 229 37%| 14%| 27%| 16%| 33%| 23%| 15%| 30%| 37%)
4 187 23| 61 18] 48 1 25 9 2[ 153 13 21| 38 4 13 7 15[ 17 1 52
18%|  21%|  24%|  20%| 13%| 7% 17%|  15%| 13%|  18%| 1a%| 26%| 30%| 22%|  24%| 12%|  7%| 22%|  7%|  20%)
5 - Very likely to happen 233] 57 7| 28 33| 2 25| 16 1| 187 31 15| 68 67 25| 2 6 21 9 35|
23%|  52%| 28%| 44%|  o%| 1o%| 17%| 28%|  5%| 2296 35%| 18%| 52%| 34%| 47o6|  3%| 3| 27| 51%|  14%|
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Scottish Sunday Times Poll

Total Should Scotland be an ‘Gender Age Age X Sex SEG
independent country?
Yes | No | Undeci|Willnot| Male |Female| 16-34 | 35-54 | 55+ |Male 16]Male 35| Male |Female| Female | Female | ABC1 | C2DE
ded | vote 34 | 54 | 55+ |16-34 | 35-54 | 55+

Basealweighted| 1014| 452| 455 99 8| 86| 528| 302| 346| 365| 150| 160| 167| 1s52| 177| 198| 462| 552
Unweighted|“1014| '448| a63| 93| 10| 49| 'ses| 181| 3e8| aes| 49| 163| 237| 132| 205|228 572 441
100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%)
Q3a. What do you think are the | Base: All weighted 1014| 452| 4s5| 99 8| 86| s28] 302| 346| 365| 150| 60| 67| 1s2| 17| 198| 462| 552
greatest risks in Scotland Unweighted 1014 448 463 93 10| 449 565 181 368| 465 49 163 237 132 205 228 572| 441
becoming independent? Please [Taw inikely to happen 110|113 4 1 72 47 a1 49 29 29 28| 14 12 21 14] 43 75|
:;;;‘:’:’;;’;ﬂﬁ:‘fe":'&:‘::x 12%|  25%| 1% 1% 15%|  o%|  14%| 14%|  8%| 10%| 179  9%|  8%| 12%| 7%  o%| 14%|
o happen and 5 means t is very 12| o8 6 7 56| 55| 36] 39| 37| 24| 20| 13| 12| 19| 25| 47| 64
likely to happen .. Taxes would 109 22| 1% 8% 12%| 119|129  119%| 10%| 16%| 12%|  89%|  8%| 11%| 12%| 10%|  12%|
ise 3 253| 158| 44| 45 6 115| 138] o] oo 72| 43 40| 32| 48| 50| 40| 00| 153
25%| 35%| 10%| 46%| 68%| 24%| 26%| 30%| 26%| 20%| 20%| 24%| 19%| 31%| 28%| 20%| 22%| 28%)
4 235| 73| 135 25 2 110 126] 76| 90| 69| 32| 48] 20| aa| 42| 40| 122 113
23%|  16%| 30%| 25%| 20%| 23%| 24%| 25%|  26%| 19%| 229%| 20%| 17%| 20%|  24%| 20%| 26%|  21%|
5 - Very likely to happen 206| 10| 266] 20| o 134] 1e2] 59| 78| 150| 22| 33| 79| 37| 46| 79| 150| 146
20%|  2%| 59%| 20%| 20| 28%| 31%| 20%| 23%| 43%| 15%| 19%| 48%| 24%| 26%| 40%| 33%|  26%)
Q3a. What do you think are the | Base: All weighted 1014| 452 455 99 8| 486] 528| 302| 346 365| 150| 169| 167 152 177| 198| 462| 552
greatest risks in Scotland Unweighted 1014 448 463 93 10| 449 565 181 368| 465 49 163 237 132 205 228 572| 441
becoming independent? Please [Taw inlikely to happen 214|195 11| 9 116 o7, 74 88 52 50 a1 26 25| 47 26| 89| 124
:;;;‘:’:’;;’;ﬂﬁ:‘fe":'&:‘::x 21%|  43%| 2% 9% 24%|  10%| 25%| 25%| 14%| 33%| 24%| 15%| 16%| 26%| 13%| 19%| 23%
o happen and 5 means it is very 108 82 18 7 1| o] 4o 35| 35| 37| 23] 22| 15| 13| 14| 22[ 51| &7
likely to happen ... Scotland 109 189  a%| 7%  8%| 12%|  9%| 1296| 10%| 10%| 15%| 13%|  9%|  8%|  8%| 11%| 11%|  10%|
could not keep the poundina ~ [3 220 113] 64| 57 6 106] 133| 87| 80| 73| 39| 39| 29| 48| 42| 43 98| 141
currency union with England 2a%| 25%| 14%| 57| 73%| 22%| 25%| 20%| 23%| 20%| 26%| 23%| 17%| 32%| 24%| 229%| 21%| 26%)
4 41| 30| 98 12 1| so| 82| se| 51| 51| 12| 18] 20| 27| 33| 22| 69| 72
1a%| 7| 21%|  12%| 17%| 12%| 16%| 13%| 15%| 14%|  8%| 10%| 18%| 18%|  19%|  11%| 15%|  13%)
5 - Very likely to happen 32| 32| 265| 15 o 145] 167] 67| 92| 153 27| 50| e8] 4o 42| 84| 155 157
31%|  7%|  58%| 15%| 206 30%| 32%| 22%| 2796 42| 18%| 30%| 41%| 26%| 24%|  43%| 34%|  29%|
Q3b. What do you think are the | Base: All weighted 1014] 452| 45| 99 8| 486] 528| 302| 346 365| 150| 169| 167 152| 177| 198| 462| 552
greatest risks in Scotland Unweighted 1014 448 463 93 10| 449 565 181 368| 465 49 163 237 132 205 228 572| 441
:fmal‘i"‘"% ‘;al“ of the U"“Efd 1 - Very unlikely to happen 250 87| 159 4 1| iss| 118 72 78| 101 42 44 50 30| 34 51| 103|147
e atomont bt where 1 25%| 10| 35| a%| 110 28%| 22%| 24%| 20%| 28%| 28%| 26%| 30%| 20%| 19%| 26%| 22%| 27%|
means itis very unlikely to 2 172| 55| 102 14 1| 74| o8| 33| 55| 84l 10| 22| 33| 14| 33| 51 75 o7
happen and 5 means itis very 17%|  12%|  22%|  15%|  8%| 15%| 10%| 11%|  16%| 23%| 13%| 13%| 20%|  9%|  19%|  26%| 16%|  18%)
likely to happen... The Scottish  [3 23| 70| 95 63 6 01| 133| 83| 77| 74| 35| 35| 32| 48| 42| 43| 120 114
economy would be worse off 23%|  16%| 21%| 64%| 73%| 21%| 25%| 27%| 22%| 20%| 23%| 21%| 10%| 31%| 24%| 229%| 26%| 21%|
4 15| 102| 43 14 1| 80| 8| 52| 61| 47| 23| 33| 23] 20| 28| 23 70 90
16%|  23%|  10%| 14%|  8%| 16%| 15%| 17%|  18%| 13%|  15%| 20%| 14%| 19%|  16%|  129%| 15%|  16%)
5 - Very likely to happen 10| 138 57 4 o7| 102[ 63 75| 60| 2] 35| 80| 31 40| 31 o4 104
20%|  31%|  13%| 4% 20%| 10| 21%| 22%| 1796|219 21%) 18%| 21%| 23%| 15%| 20%| 19%|

ranelbasecom



F4108w15

Scottish Sunday Times Poll

Total 2011 Constituency vote ‘Country of birth EU Election

Conser | Labour | Liberal | SNP | Other | Didnot| Cant | Not |Scotlan| Englan| Al | Conser | Labour | Liberal | Greens| SNP | UKIP | Other | Did not

vative Democr vote | remen | eligible | d d | others | vative Democr vote!

Basealweighted| 1014| 110| 251| 63|  360) of 16| 0| 17| sa2| o1 e1| 130| 196] 4| 61| 220 79| 17| 257

Unweighted| " “1014| '134] 212| e2| 3a5| 38| 16| so| 17| 7es| 157| e8| 113| 187| 47| e0| 268| 70| 12| 257

100.0%| 100.0%| 100.0%| 100.0%| 100.0%] 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%|

Q3a. What do you think are the | Base: All weighted 1014| 110|251  63] 360 o 146] so| 17| sa2] 1] e 130| 96| 4| 61| 220 79| 17] 257,
greatest risks in Scotland Unweighted 1014, 134 212 62 345 38 146 59 17 788 157 68 113 187 a7 60 268 70 12 257“
becoming independent? Please [Taw inikely to happen 119 20| 3 82| 1 10| 2 2| 7 1 14] 1 4 65 19 15|
:;;;‘:’:’;;’;ﬂﬁ:‘fxmﬁ:x 12%| 8%| 4| 23| ow| 7| 3% 1% 13% 8% 1% 7% 2% 7% 30%|  24% %)
o happen and 5 means t is very 112 1 12 2[ 69 1 17 7 3 3 6| 13 1 7 3 14 52 5 of 31
likely to happen .. Taxes would 109 16| 5% 3% 10%| 15%| 1296 1296 18%| 11% 7% 16%| 19|  3%|  5%| 23%| 24%| 6%  2%| 129
ise 3 253 6 52 6| 111 3] 50 20 a| 2100 25 17 71 52 8] 27] el 7 3[ 87
25%|  6%| 21%| 10%| 310 35%| 34%| 34%| 26%| 25%| 28%| 21%|  5%| 27%| 15%| 44%| 28%|  o%| 18%| 34%)

4 235| 25| 79| 15| o7 2[ 38 13 6 184 18] 34| 25| 50| 15| 10| 31| 21 8| 16

23|  20%|  32%|  24%| 16%| 21%| 26%| 22%| 3796|2296 20%| 42%| 10%|  26%|  279%| 17%| 14%| 26%| 48%|  30%)

5 - Very likely to happen 206| 78| 88 37| 41 2[ a1 17 1| 245 34| 17| 97| 73 27 6| 12 28 5[ a7

20%| 71%| 3% 59%| 1106 21%| 21%| 30%|  89%| 209%| 38%| 21%| 75%| 37%| 51%|  9%|  5%| 35%| 32%|  19%)

Q3a. What do you think are the | Base: All weighted 1014| 110 251 63| 360 o 146] 59| 17| 42| o1 81 130| 196] 54| 61| 220 79| 17| 257
greatest risks in Scotland Unweighted 1014, 134 212 62 345 38 146 59 17 788 157 68 113 187 a7 60 268 70 12 257“
becoming independent? Please [Taw inlikely to happen 214 2 32| 6| 139 2 24] 8 1| 189 15 10| 5 18] 6 20| 102 27 6 30|
:;;;‘:’:’;;’;ﬂﬁ:‘fxmﬁ:x 21%|  2%| 13%| 10%| 39%| 279%| 16%| 14%|  6%| 22%| 16%| 13%| 4%|  9%| 10%| 33%| 46%| 35%| 33%| 129
o happen and 5 means it is very 108| 3| 2 N 2[ 11 9 s 8 6 2[ 18 1 1] 35 6 of 3
likely to happen ... Scotland 109 3| 10%| 2% 15%| 18%| 89| 159%| 79| 11%)  9%| 79| 2%  9%|  1%| 18%| 16%| 7%  2%|  14%
could not keep the poundina ~ [3 240 14| 55| 11| 88 2[ 49 18 3| 97| 18] 24| 17| 48| 6 19 52 9 1 88
currency union with England 2a%| 12%| 22%| 17| 25%) 10%| 34%| 30%| 1796 23%| 20%| 30%| 13%| 24%| 12%| 30%| 24%| 12%|  7%| 34%)
4 11| 26| 40 12| 28 1 18 9 7| 108 11| 22| 24| 30 18 7 12 9 1 a9

14%|  23%|  16%| 19%| 8% 15%| 12%| 16%| 39%| 13%| 13%| 27%| 10%| 15%|  34%| 129  5%| 11%|  4%|  16%)

5 - Very likely to happen 312| 66| 99| 33 49 2| 44 15| 5| 255 38| 19| 82 82 23 a4 19 29 o 64

31%| 60%| 39%| 529| 14%| 21%| 30%| 25%| 31%| 30%| 420%| 24%| 63%| 42%| 43%|  6%|  9%| 36%| 55%| 25%)

Q3b. What do you think are the | Base: All weighted 1014] 110] 251 63|  360) o 146] 59| 17| 842| o1 81 130| 196] 54| 61| 220 79| 17| 257
greatest risks in Scotland Unweighted 1014, 134 212 62 345 38 146 59 17 788 157 68 113 187 a7 60 268 70 12 257}
:fmal‘i"‘"% ‘;":" of the U"“Efd 1 - Very unlikely to happen 250 a7 69 20| 80| 2 28] 5 1| 214 21 15| 49 64 16 9 41 30| 4 37|
e atomont bt where 1 25%| 43| 27%|  31%| 20%| 219 19%|  9%|  7%| 25%| 23%| 19%| 38%| 33%| 20%| 14%| 10%| 38%| 26%| 15%]
means itis very unlikely to 2 172| 24| 39| 19| 49 1 23 12 5| 137 14| 20| 33| 39 12 4 a1 8 7| 4
happen and 5 means itis very 17%|  22%|  16%| 30%| 1a%| 13%| 16%| 20%| 28%| 16%|  16%| 25%| 25%| 20%|  23%| 79|  9%| 11%| 30%|  19%)
likely to happen... The Scottish  [3 234 23] 59 6 62 2| 49 a0 2| s8] 19| 27| 26| 47 8| 14| a1 5 3 100|
economy would be worse off 23%|  21%| 24%| 10%| 179 22%| 34%| 51%| 10%| 2296| 219| 33%| 20%| 24%| 15%| 23%| 14%|  6%| 20%| 39%)
4 159 4 a3 7 66 3| 2 8 7| 13 15| 15 of 24 6| 15| 52 17 S

16%|  4%| 1796  10%| 10%|  36%| 15%|  14%| 41%|  15%|  16%| 18%| 7%  12%|  12%| 24%| 24%| 21%|  6%|  14%)

5 - Very likely to happen 10| 11| 42 12| 102 1 24 4 2[ 13 22 4| 14 21| 12 20| 75 19 1 3

20%|  10%| 17%| 19%| 28%) o 17%|  7%| 15%| 2196 24%| 5% 11%| 11%| 229%| 32| 34%| 25%|  8%|  14%|
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Total Should Scotland be an Gender Age Age X Sex SEG
independent country?
Yes | No | Undeci|Willnot| Male |Female| 16-34 | 35-54 | 55+ |Male 16]Male 35| Male |Female | Female|Female| ABC1 | C2DE
ded | vote 34 54 | 55+ | 1634 | 3554 | 55+
Baseall weighted| 1014 452 455 99 8| 486| 528 302| 346| 365| 150| 1e9| 167| 152| 177| 198| 462| 552
Unweighted|1014| " 448|  463] 93 10| adg| ses| 181 368|465 49| 163|237 132| 205| 228|572 44l
100.0%| 100.0%] 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%] 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%
Q3b.What do you think are the | Base: All weighted 1014 452|455 99 8| 48| 528 302| 346| 65| 1s0| 160| 167| 152 177| 198 462| 552
greatest risks in Scotland Unweighted 1014 448  463| 93 10| 449 565 181 368| 465 49| 163| 237| 182| 205| 228| 572| 441
’K‘i'r:‘ac“’l‘)‘r"“% ‘;alga‘;fe";‘:;:‘f% 1 - Very unlikely to happen 233 87| 142 4 133|100 75 64 94| 49 38| 47 25| 26 4| 1] 122
e Statomont bt where 1 23%|  19%| 31%| 4% 279%|  19%| 25%| 19%| 26%| 33%| 22% 28%| 17%| 15%| 24%| 24%| 22%
means itis very uniikely to 2 176 28] 108| 19 1 68|  108] 25 62 89 6 29 34 20 33 56 69| 107
happen and 5 means it is very 17%|  119%| 24%| 20%|  8%| 14%| 2106  8%| 18%| 25%|  4%| 17%| 20%| 13%| 19%| 28%| 15%|  19%|
likely to happen ... Iimy family ~ [3] 293 o7 127 61 8| 132[ 160 114] 95 83 59 38| 35 55| 58 28| 145| 148
would personally be financially 29%| 22%| 28%| 62%| 92%| 27%| 30%| 38%| 28%| 23%| 30%| 2206 21%| 36%| 33%| 24%| 31%| 27%|
vorse off 4 128 84 33 11 61 67 37 45 46 15 24 21 22 21 24 59 69
13%|  19%| 7%  11%) 13%| 13%| 129%| 13%| 13%| 10%| 14%| 13%| 14%| 12%| 12%| 13%| 13%)
5 - Very likely to happen 184 135 25 2 92 92 51 80 53 21 a1 30 30 39 22 78] 106|
18%|  30%| 10%| 4% 19%| 17%| 179%| 23%| 15%| 14%| 24%| 18%| 20%| 22%| 11%| 17%| 19%|
Q3b. What do you think are the | Base: All weighted 1014] 452|  455] 99 8|  486] 528 302| 346 365 150| 169| 167| 152| 177| 198| 462| 552
greatest risks in Scotland Unweighted 1014 448  463| 93 10| 449 565 181 368| 465 49| 163| 237| 182| 205| 228| 572| 441
’K‘i'r:‘;’l‘)‘r"‘g ‘;alga‘;fe";‘:;:‘f% 1 - Very unlikely to happen 145 65 76| 3 76 68| 0 49 56| 23 28| 25 17 21 30| 54 90|
cach statement below where 1 1a%|  14%| 17%| 3% 16%| 13%| 13%| 14%| 15%| 15%| 169%| 15%| 119%| 12%| 15%| 12%| 16%)
means itis very uniikely to 2 159 23] 107] 8 0| 59 99 35 36 88 17 14 28 18 21 60 72 87
happen and 5 means it is very 16%|  10%| 24%|  8%|  6%| 12%| 19%| 12%| 10%| 24%| 11%|  9%| 17%| 12%| 12%| 30%| 16%|  16%|
likely to happen ... Public 3 251 55 133 56 7| 111 140 65 of 95 25 20 45 39 51 50 110] 141
spending would be cut 25%| 12%| 29%| 57%| 84%| 23%| 279 2196 26%| 26%| 17%| 24%| 27%| 26%| 20%| 25%| 24%| 26%)
4 196 95 78 22 1] 96  100| 75 68 53 34 33 29 a1 35 24 96| 100
19%|  21%|  179%| 22%| 119%| 20%| 19%| 25%| 20%| 15%| 23%| 19%| 18%| 27%| 20%| 12%| 21%| 18%|
5 - Very likely to happen 263] 193 61] 9 144 119| 88 102 74 51 54 39 37 28 34| 130 134
26%|  43%| 13%| 10% 30%|  23%| 29%| 30%| 20%| 34%| 32% 24%| 24%| 27%| 17%| 28%| 24%
Q3b. What do you think are the | Base: All weighted 1014  452[ 455 99 8| 486] 528 302| 346 365 150| 169| 167 152| 177| 198| 462| 552
greatest risks in Scotland Unweighted 1014  448|  463| 93 10| 449 565 181 368| 465 49| 163| 237| 182| 205| 228| 572| 441
z’:a;’l‘)‘r"‘g ‘;ﬁ;‘a‘:e‘:ﬁuw":’sf"m 1 - Very unlikely to happen 138 49 86| 2 76 62| a1 39 57 26 22 28 15| 17 30| 56 81
e atomont bt where 1 1a%|  11%|  19%| 2% 16%| 12%| 14%| 11%| 16%| 17%| 13%| 17%| 10%| 10%| 15%| 12%| 15%)
means itis very unlikely o 2 161 26] 104 8 2| 67 93 29 51 80 14 21 32 15 30 8 72 89
happen and 5 means it is very 16%|  10%| 23%|  9%| 19%| 14%| 18%| 10%| 15%| 22%|  9%| 12%| 19%| 10%| 17%| 24%| 16%| 16%)
likely to happen... Taxes would ~ [3] 328) 132|129 61 6| 152[ 177| 107] 119] 102 52 59 a1 56| 60 61| 160 168
rise 320%| 20%| 28%| 62%| 719%| 319 34%| 36%| 34%| 28%| 34%| 35%| 25%| 379%| 34%| 31%| 35%| 30%|
4 202[ 106 76) 19 1| 105 96, 71 75 55 35 40 31 36 36 25 85 117
20%| 23%| 17| 19%| 119%| 20%| 18%| 24%| 22%| 15%| 23%| 24%| 18%| 24%| 20%| 12%| 18%| 21%|
5 - Very likely to happen 186] 118 59 8 87 99 54 61 71 24 27 36 30 34 35 89 o7
18%|  26%| 13%| 8% 18%| 19%| 18%| 18%| 19%| 16%| 16%| 21%| 20%| 19%| 18%| 19%| 18%|
Q3c. If Scotland votes Yes do | Base: All weighted 1014  452] 455 99 8| 486] 528 302| 346 365 150| 169| 167| 152| 177| 198| 462| 552
you think the main UK parties | Unweighted 1014 448  463| 93 10| 449 565 181 368| 465 49| 163| 237| 182| 205| 228| 572| 441
would carry out their pledge to | 3reralid carry out their pledge and there would be no 353 37| 296 17 2| 163] 190 92| 101|161 36 28] 79 56| 53 82| 182 171
g’;":;:::‘;”;f;‘:ngefr"?;’n‘cve“h formal currency union 35%| 8| 65|  18%| 20| 33%| 36%| 30%| 20%| 44%| 2a%| 28%| 479|379 30%| 41%| 39%| 31%)
he rest of the UK? They would change their stance and negotiate a formal 466 358 66, a1 2| 264] 202[ 150] 182| 134] 100 98 67 51 84 68| 195 271
currency union a6%|  79%| 14%| 42%| 18%| 54%| 38%| 50%| 52%| 37%| 66%| 58%| 40%| 33%| 47%| 34%| 42%| 49%
Don't know 195 56 93 a1 5| 60 135 61 64 71 15 23 22 26] 41 29 86] 109
19%| 13%| 219| 41%| 60%| 129 26%| 20%| 19%| 19%| 10%| 14%| 13%| 30%| 23%| 25%| 19%| 20%|
I I
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Scottish Sunday Times Poll

Total 2011 Constituency vote ‘Country of birth EU Election
Conser | Labour | Liberal | SNP_| Other | Didnot| Can't | Not |Scotlan] Englan| Al | Conser | Labour | Liberal | Greens| SNP | UKIP | Other | Did not

vative Democr vote | remem | eligible | d d | others | vative Democr vote/

Baseall weighted| 1014|110 251 63| 360) of 146 59 17| sa2 o1 81| 130 196 54 61| 220 79 17| 257

Unweighted| 1014 134|  212] 62| 34 38| 14s| 59 17| 788 157 68| 113 187 a7 60| 268 70 12| 257
100.0%| 100.0%] 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%| 100.0%] 100.0%| 100.0%] 100.0%| 100.0%| 100.0%| 100.0%| 100.0%] 100.0%| 100.0%] 100.0%| 100.0%)

Q3b.What do you think are the ~ [Base: All weighted 1014| 110|251 63| 360] o 146 59 17| 842 o1 81| 130 196 54 61| 220 79 17| 257
greatest risks in Scotland Unweighted 1014| 134 212 62| 345 38| 146 59 17| 788 157 68| 113 187 47 60| 268 70 12| 257
’K‘i'r:‘;’l‘)‘r"‘g ‘;alga‘;fe";‘:;:‘f% 1 - Very unlikely to happen 233 a8 62| 19 74] 2 23] 3 2| 196 24 13| 47 58| 14 10| 41 25| 1 36|
cach statement below where 1 23%|  43%| 25%| 31%| 219 219 16%|  5%| 11%| 23%| 27%| 16%| 36%| 30%| 26%| 17%| 19%| 32%|  4%| 14%
means itis very uniikely to 2 176 29 38 19 46 1 30 13 1| 148 14 15 34 34 11 3 26 8 10 49
happen and 5 means it is very 17%|  26%| 15%| 30%| 13%| 13%| 20%| 22%|  8%| 18%| 15%| 18%| 26%| 18%| 21%|  5%| 12%| 10%| 62%| 19%)
likely to happen ... Iimy family ~ [3] 293 20 77 10 84) 2 56, 33 1 221 27 5 30 65| 12 24 36 14 3| 109
would personally be financially 29%| 18%| 319| 16%| 23%| 20%| 39%| 56%| 63%| 26%| 30%| 56%| 23%| 33%| 2206| 40%| 16%| 17%| 20%| 42%
vorse off 4 128 4 37 5 60 2 15| 4 1| 114 7 7 4 20 7 8 49 9 1 31
13%|  4%| 15%|  9%| 17%| 26%| 10%|  6%|  4%| 14%|  8%|  8%|  39%| 10%| 12%| 12%| 22%| 1196  4%| 12%)

5 - Very likely to happen 184 9 37, 9 9% 2 22) 7 2[ 163 19 2 15 19 10 15, 68 24 2 31
18%| 8% 15%| 14%| 279 20%| 15%| 129%| 15%| 19%| 21%|  3%| 11%| 10%| 19%| 25% 31%| 30%| 11%| 12%

Q3b. What do you think are the | Base: All weighted 1014] 110] 251 63 360] o 146 59 17 84z o1 81 130 196 54 61| 220 79 17| 257
greatest risks in Scotland Unweighted 1014| 134 212 62| 345 38| 146 59 17| 788 157 68| 113 187 47 60| 268 70 12| 257
’K‘i'r:‘;’l‘)‘r"‘g ‘;alga‘;fe";‘:;:‘f% 1 - Very unlikely to happen 145 19 36| 10| 59 1 16| 3 129 11 ) 24 35 7 7 31 16] 0 24]
cach statement below where 1 1a%|  17%|  14%| 17%| 16%| 12%| 11%| 6% 15%| 12%|  5%| 19%| 18%| 14%| 119 14%| 21% 2%| 9%
means itis very uniikely to 2 159 35 43 14 31 1 20 11 2| 133 13 12 34 24 11 4 19 6 4 35|
happen and 5 means it is very 16%|  32%| 17%| 23%|  9%| 13%| 13%| 19%| 15%| 16%| 15%| 15%| 26%| 22%| 21%|  7%|  9%|  8%| 24%| 14%)
likely to happen ... Public 3 251 34 68 15 57, 1 a7 27 2[ 194 25 32 37 60| 12 10 24 12 7 88|
spending would be cut 25%| 31%| 27| 23%| 16%| 109 32%| 46%| 13%| 23%| 28%| 39%| 28%| 31%| 23%| 16%| 11%| 16%| 40%| 34%
4 196 10 52 11 69) 2 32 9 10[ 156 17 23 17 29 8 11 46 17 1 67|
19%|  o%| 219%| 18%| 19%| 28%| 22%| 15%| 60%| 19%| 19%| 29%| 13%| 15%| 15%| 18%| 21%| 22%|  6%| 26%
5 - Very likely to happen 263 11 52 12| 143 3 31] 8 2[ 230 24 9 18 29 15 29 99 26 5 22|
26%|  10%| 219%| 20%| 40%| 38%| 21%| 14%| 12%| 279 27%| 119%| 14%| 15%| 27%| 48%| 45%| 33%| 29%| 16%)

Q3b. What do you think are the | Base: All weighted 1014 110[ 251 63 360) o 146 59 17 84z o1 81 130 196 54 61| 220 79 17| 257
greatest risks in Scotland Unweighted 1014| 134|212 62| 345 38| 146 59 17| 788 157 68| 113 187 47 60| 268 70 12| 257
z’r:‘;’l‘)‘r"‘g ‘;"::a‘:e‘zsu\"":’sf"m 1 - Very unlikely to happen 138 29 34] 12 43 1 16| 2 118 12 7 30 35, 7 7 22 15| 0 21|
each statement below where 1 1a%|  27%| 14%| 19%| 12| 12%| 11%| 4% 14%| 14%|  9%| 23%| 18%| 13%| 119%| 10%| 19%|  2%| 8%
means itis very unlikely o 2 161 29 a1 13 49 1 17, 10 1 136 12 13 36 35 12 5 24 16 4 29|
happen and 5 means it is very 16%|  27%|  16%| 20%| 14%| 79| 12%| 16%|  5%| 16%| 13%| 16%| 28%| 18%| 23%|  7%| 11%| 20%| 22%| 11%)
likely to happen... Taxes would ~ [3] 328 27 84) 3] 105 3 54 36 6| 262 33 33 31 67 8 26| 62 15| 7| 113
rise 320%| 25%| 34%| 21%| 29%| 38%| 37%| 60%| 36%| 319 36%| 419%| 24%| 34%| 15%| 42%| 28%| 19%| 40%| 44%
4 202 12 54 10 79 3 32 4| 8| 165 15 21 15 35 13 11 50 15 5 58]
20%|  11%| 21%| 16%| 22%| 30%| 22%|  7%| 45%| 20%| 16%| 26%| 12%| 18%| 24%| 18%| 23%| 19%| 29%| 23%
5 - Very likely to happen 186 12 38 15 83 1 26 7 2[ 160 19 6| 17 25 14 13 62 18| 1 35|
18%|  11%| 15%| 24%| 23%| 14%| 18%| 129%| 15%| 19%| 219%|  8%| 13%| 13%| 26%| 21%| 28%| 23%|  8%| 14%

Q3c. If Scotland votes Yes do | Base: All weighted 1014 110[ 251 63 360) o 146 59 17 84z o1 81 130 196 54 61| 220 79 17| 257
you think the main UK parties | Unweighted 1014 134 212 62| 345 38| 146 59 17| 788 157 68| 113| 187 47 60| 268 70 12| 257|
would carry out their pledge to | 3reralid carry out their pledge and there would be no 353 81| 115 30| 55 1 46| 17 o 279 43 31 o1 99 25 6 24 28] 3 78
Sﬁvfgfnsif‘fr.":ngeﬂ‘"fn'ﬁh formal currency union 35%|  7aw|  46%| 47|  15%| 16%| 32% 20%| 51%| 33%| 47%|  38%|  70%| 50%| 46%|  o%| 11%| 36%| 20%| 30%]
he rest of the UK? They would change their stance and negotiate a formal 466| 19 89) 14| 258 6 62 15 3| 410 29 28 28 67 12 25] 172 42 9 90|
currency union a6%|  17%| 35%| 23%|  72%| 66%| 43%| 25%| 16%| 49%| 31%| 34%| 22| 34%| 22%| 74%| 78%| 54%| 54%|  35%)

Don't know 195 11 28 19 26 2 38 27 6] 153 19 22[ 10 31 17 10 25 B 2 89
19%|  10%| 19%| 30%| 13%| 18%| 26%| 46%| 32%| 18%| 21%| 28%|  8%| 16%| 32| 17%| 11%| 11%| 26%| 35%

I [

ranelbasecom



